(BT HF) ZHEER

BIE
ST 1-1 BEER

1. /NZE4% 10000 JCAENERAT, BREERIZY 3%, 70 VARG AT, W 5 451
I IPE 20

fl: SRIHR (M) . F =10000x (1+3%x5)=11500 (i)

SRR () : F =10000x(1+3%)° = 11593 (o)

5 4F J5 AT R R ARIRZ 11500 Jo; A ERAFIAE 11593 75
2. FENAUAE 3 135 1000 76, HATHEFIZRIy 5%, AR, W2 NBLERAF AR
T e NZ DY

e R B (I - P=(1+1300(;)0x5)=869-57(fc)Eﬂfmﬁﬁﬁ)\%ﬁﬁﬁﬁ*ﬁfﬁﬁ

869. 57 JC

3. FEADAEAENEAT 3000 76, BWATHERZEN 5%, BARIFE, b 3 EFZAGBIA
RIF 27 FZN 3 JEREH 750 7T, BAENAEANZ/D?

fR: PR (M) : F =3000x(1+5%x3)=3450 (r)

SR () . P= (1+;5/"x3)

B 3 4F J5 1 \A5 BRI AFFI A 3450 76 3 4R JEAKELH 750 76, ILAERIAFEAN 652. 17 76

4. SR AFIAEFNEAT 100 70, A3 4, FRIE 8%, FFETHE—, WIZEFHAT
DLECH B4 2 /0 2

= 652.17 (51)

i EREE (&ME) F=100x(1+8%)’ =100x(F / P,8%,3)=100x1.260 = 126 (}i T.)

E 23T AT DUE H BB 480 126 T3 7T
5. WARMRATHENZHN 10%, NAE 5 FJa3RAF 60000 7o, WIHLAERAF NARITHI B &N %

Y.

fi: BAHE (UHE)

60000 _ 60000 (P/ F,10%,5) = 60000 % 0.621 = 37260 (5
(1+10%)

B IRAE RLAF NARAT 1 98 49 37260 Tt

6. FIHEA R E—T &, AR &

TR —IRIEATEK 4000 TG

FREZ: BT 2000 76, 2 4EEATK 2200 76 R BIERAT AR AE R 20y 8%, I fn ]
7




fife: T % — —IRMEATEK 4000 76, 2 5 MZHEN

F = 4000x (1+8%)" = 4000 (F / P,8%,2) = 4000 x 1.1664 = 4665.6 (7.)

TR 2FRNAEN

F =2000x (1+8%)’ + 2200 = 2000 x 1.1664 + 2200 = 4332.8 (J©.) {11 % 77 % —

7. &R E BASERAT TR 10000 J3IG6, RN 6%, FPETF R, W 3 4EEMNIH
AR AR Z/D?  (11940. 52 Jio6)

S 3x2
62/“] =10000x 1.194 = 11940 Bl 3 4F Ji5 W )T3b F AR FIE 11940 J3 76

ﬁﬁ?:F=10000x(1+

8. A MIFRAT A AR BE DT . —ZRATHIAIA Iy 12%, L ATHE: 5—FWT
RIRIZ 12, 2%, &P MESRAT IR AR E A 12
it - COYRREUN P, —4F 5 A A

Py 12
B—FKBUTF = Px(1+ li;’) = Px1.1268

B RARATF = Px[1+ ‘“%jz = Px112s7 BI85 SRARAT I (- AT IR 5] 7.

9. FNFr A =5k S, Horh— 45 B A S48 £ %02 5000 o, MG ZIH &R0
8000 7T, , TL4E & BIHAM) G40 E 20000 76, CAIERATHIMEILER AN 6% . B = gk 245 A 44T
VE— R M B EELE, R B ARAT MG B0 440 .

fift - ER S B TE G A 200, WS B4

F, F, F, 5000 8000 20000

P= + >+ T = + >+ 3

I+r (1+r) (1+r) 1+6% (1+6%) (1+6%)

=26782.1(7T)



